


|
Mot — ~B(—
’ [= 5 g-hh
— e b/
5 =
|0 al A
. i A AP 255 e
rsaths , .

Je
As e T, £ 4 ~
L) AOQ{,. (- rgw;;“J i
Vi
‘ _ pot . tamp.
«= L0 ) o= F Povsrant Er
o = const
-l . 8/ | ,
F:<§/—£i’- ) e = C/T—/KQ, ’r -0  =const
| -l _ 8 e e - K4
if_c’(ffﬂ "7,.-.-1_1" )—,/_ZT_ (’”r“)
+T
oo p5H2y k3
)C;jr,r-4kg_7(‘%) (650 k< / r{@

= %ﬁ)ﬁ <9 —> expanio. = Jaloralan,



2— LCT’) =Lo -—(CW——CI’V)CT"T‘,)

6(@; - .
d(’(_ - /2\/’)1 Z\Lo -CCW‘CPJ)CT—“'/T,,)]
[ "
\ _ Qx b ) _ Lo +(Cucp)
(7 - F e phes = R,
t:)ﬁ Cw"CP\;
J{ey a2 R
- e b IV
Cy T? ’r') 4T

Mognas (0 AT o |
7 (<) iy Eg.(s.5)  Bobfon(t:) Tadle £y (P2)

-Jo £0.85 (Z-oz} £).a4 £/-06
2o [25.71 125.7 125.74 12 5.43
~lo 286.20 263.8 296.8 D Je5
0 G110 <03.8 gl 2 §11.2
e 1228 2 12177 12272 1227.94
20 2340 0 2 34]. | 233%.9 2334.5%
50 Y4240.0  H3l0.7  ga4s.c 4245 Zo



p= doumi F= g¢s

V/\) 9 T (%)K(l-o-28r‘v)

Need vy fom pank (b)

- (et 15) () AR o)

= 225. 77 KK
b= G (T *S/éc)Ptd’oA/%) r
e (sd) b 42/ M)(o 6s)
S0 ktk Fo <o j//fc
<) Ty = B - 542 xjo? I
j\f\[ P ] Z(Z. < 2xiof kta) (0.622) )
(oo213) ( fo ch.)
= 2¢2.55 K
&Q) ,}» B 2840

= + 55
< .?,f,é)nT“/pne, 4. foF

e = e = @es)(q21e4) = 2742 fs

= 2.7 mb
2840
72 T 957 — [ ol —4.505 LR

~—

= 26(.4 I



c) B =8 =x (‘%5%&»

i)

265.77 exy( 2675 (o219 g~

261.4

= 292.07

//: = T(/ ro.€ly,) = 26¢.15 ((r@.ét}(.oozr?))

= 248.50 K
Pm = P = 6,000 I = o4 kg m 3
RaTv 237.05)( 265. 53)






